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Outcome 1 - The Area of a Triangle

Bronze examples Silver examples

Gold examples

Examples...

Examples...

+  Substitute

into formula...
Find the areas

of the following
triangles...

Find the areas
of the following triangles...

A=1:2x13x 16xsin 6B
= 8519 em?

A=1:2x22x26x
19445 m?

13 cm

76 cm
347
72 cm GES

34m 16 em

28m ' A=1:2x28x 34x sin 41

= 31228 m*®

A=1+2x76x72xsin 64

Ve

Substitute A=87-06cm?

into formula...
22m

Examples...

Find the length of
the missing side...

26m A e - F
(1+-2x14xsin 56 = 5:803...) xem

87-05=1+2x14 xx x s5in b6
x = 87-06+5-803..=156-0em

29m
sin 45

Find the missing angle...

34-82=116 (1-2 x 45 x 48 = 1080)

180-116=64 962-29=1+ 2 x 45x 48 x sin x

sin x = 962-29+ 1080 = 0-891...
x = sin10-891.= 63-0°

Bronze Questions

Find the areas of the following triangles...

A A 17 m
13 cm 19m
L] 23 mm $ 48 cm
20 mm_ 33°
56 cm
é 53 mm

Gold Questions

Find the missing sides and angles in the following

triangles...
Area
1 xcm 120-44 m.:

L Todd

Area 18 m

56-43 em?

en 16 cm xm

« 28 mm s 49 cm Area

Area 799-68 cm*
175-37 mm?

X mm 42 cm
-é B3 mm L
\97 m
41 mm
Area Area
1083-85 mm* 356351 m?

Trigonometry in triangles

\
Silver Questions s
Find the areas of the following triangles... vy
I 23 cm 67 m
j5 - 68m
e 10cm 74m 497
we 19 mm % 44 cm Gy
15 mm 14 mm 68"
B0 cm
97° 65° 107 m
39 mm ~28° 104 m
A= tabsinC
§ Takea A~ zdDsi b
.\ Notel ™ Twe sides and
an included angle™
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Bronze Answers

1. 33-65cm?*

3. 93-BB5mm?

5. 97677 mm?

Silver Answers

1. 28593 cm?
3. 7048 mm?

5. 543-10mm?

Gold Answers

1. 12-0cm
3. 23-0 mm
5. 86-0°

Trigonometry in triangles

APP 1-1 Rig@ur Maths

112-19m?

731-:99cm?

3345-32m?

1898-85m?*
394-20cm*

3501-64m?

20-0m
51-0°
53-0°
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